Improving Your Reading with Cassie the Commentator:
The Tiger and His Farm

overgrown with weeds and the tiger needed somebody to help him clear
it. The tiger called all of the animals together and said to them, “I need a
good workman to clear my farm of weeds at once.”

: The monkey was the first one to step forward and apply for the position. The

tlger tried him for a little while but he was no good. He was always distracted by
something and the tiger soon fired him. Then, the tiger hired the goat to do the work. The goat
worked well enough but he was incredibly slow and extremely messy. Once again, the tiger
fired him. Next, the tiger tried the armadillo. The armadillo was very strong and very fast but
wouldn't stop eating! Soon, all of the tiger's good crops had been eaten by the armadillo and
he was also fired.

Finally, when the tiger was about to give up all hope of finding a worker, the
rabbit applied for the position. The tiger laughed at him and said, "
"Why, little rabbit, you are too small to do the work. If all of these
other animals have failed, there is no way you will be able to clear :
my farm!” ' b

1. How were the monkey and the armadillo different when working on the farm?

2. Why do you think the tiger didn't clear the weeds himself?
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3. Which animal do you think worked the hardest on the farm? Tick one.

the monkey [ | the goat [ | the armadillo [ ]

Explain your answer.

4. Why do you think the tiger laughed at the rabbit when it offered to do the work?
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Answers

1. How were the monkey and the armadillo different when working on the farm?
Accept answers that contrast the armadillo and the monkey and note their
differences, such as: The monkey always gets distracted but the armadillo works
hard and fast.

2. Why do you think the tiger didn't clear the weeds himself?
Pupils’ own responses, such as: I think that clearing the weeds is a hard and tiring
job so the tiger doesn’t want to do it himself.

3. Which animal do you think worked the hardest on the farm? Tick one.

the monkey [ | the goat [ | the armadillo [ ]

Explain your answer.

Accept any single response providing that it is backed up with an explanation, such as:
I think that the armadillo worked the hardest because he is the only one who managed
to clear a lot of the weeds.

4. Why do you think the tiger laughed at the rabbit when it offered to do the work?
Pupils’ own responses, such as: I think that the tiger laughed because he did not
expect a small rabbit to be able to do all of the hard work after larger animals had
failed.
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